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Phys 221 (Section B)
Quiz #6
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its first resonance (the fundamental) when its length is 22.2 cm. From this data,

1. A pipe which is closed at one end is excited at a frequency of 302 Hz and gives T

|

what is the speed of sound in the air column of the tube? I
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2. An ideal gas at a pressure of 0.5 atm, temperature 27.0° C and volume 2.0 L is
compressed to a final volume of 0.6 L and pressure of 3.0 atm. What i1s the final
temperature of the gas?
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3. A gas expands from § to [ along the path indicated in this P—V .
diagram. Caleulate the work done by the gas; express the answer _
in Joules. 371

Wk e L.r e Aak 13 N = JPJ‘H’. “This s the,

¥ v e L curve” fee He P o Vo oplet OE e say - S
€4 pun sl
Simple geemefty  ghees tle area  Sheton: i
ws friv = (1 am)(3 &)+ & (20n)(3L) :
= ;_0 L+ atm
jel.3F ! : -
= o @ ——— = = o]
(o ham) (& o) 608 T|
1.O0OL -atm = 101.3J R =0.0821 m.nl.
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